01 AT E HEHEE xsx wExR

AY A =N Ny
¥ = OB O OE
T Fl & Bl L | FEAR - JLES HAL| % & S
Aia% L
3.0
e KE 2y B A VSRS [GXIE ¢ 150 m
3.0
HEFEAS G-LINKZ GXJE ¢ 150 |
4.0
75 VWA ¢ 150 ]
1.0
RY)xzFLo2)—7|¢ 150 m
1.0
EdE YRS ¢ 150 [E55in
1.0
i1 FRHEAT ¢ 150 & FIT
1.0
BEERE U L ¢ 150 & T
4.0
BEER & BT ¢ 150 % AT
AT
3.0
ABO-67E +T.  [+#V0.8m ¢ 300mm m
1.0
E-1AE + T +H02. Im ¢ 200mm m
1.0
ABO-3MH +T. |14V 0.8m ¢ 150mm m
5.0
ASO-4TIE+T. | +#%V0.8m ¢ 200mm m
2.0
BII0-4M&E+T | +#v 1. 1m ¢ 200mm m
1.0
SRS AFLET [ 4 90.8m ¢ 150mm AP




01 AT E HEHEE xsx

BExR2

=R YN :J:jr'_;f
Y

B

% N
T & & Bl L | FEAR - JLES HAL| % & S
FREEE T

1.0
L2 (T-25) ¢ 600 |1 iE S FE-kE HH

1.0
PRI E HiL

1.0
HEY T $ 600 X h50 il

1.0
EIHETE L2V |den/48 i

1.0
RS ANFLEEST T |35 [E55in

1.0
PR hBURHEE 35 & Pt

1.0
BT EE 35-h1200 AT

1.0
JEEIR 35 % AT

1.0
HIFL $ 150 5 AT

2.0
ffigg= 7 ) — 1 |21-40-8 i

2.0
=Ls 21-40-8 5 AT

0.7
JEREAT HEY S v v—5 2 re-40|1=20cm m3




01 AT E HEHEE xsx

#BIER3

2 = 1\
é& B ifies :J:jé il%
T fE TR Hmom FEAk - Bk HAL| 0 & S
=T

164.9

BE e P ZE A T iR Bk B+ m3
1

HEAA ¢ 150 £ AT
1

ZeRdkE O $ 150 % AT
1

FEAN2 ¢ 150 & Pt
1

eI X 0 ¢ 200 [E55in
1

L E D2 ¢ 150, ¢ 100 &P
4

HEAE2 » 300 & T
6

L E N2 $ 300 & Pt
5

EREEN2 $ 200 & AT
4

HEAL2 b 200 & Pt
FeHE T 18

N AR] BAYE = L H Bk B+ & AT
FIET 12

=4 PRYE = L+ B ik T FIT
FoHE T 38

el BAYE = Bkt & Pt
FEH T 33

s BHSE = LBkt & T
FHET 9

B2 BAJE = B bR 1 % AT
FHE T 7

i t6 BgE = ik + & T
FEHET. 1

BT BRYE = LB i i T FIT




01 ETIE HEFHEE xIsx wiExR4

B OB A O R

~

T Fh ol Al | TR - Bikk BN O & k=
=2z
1.0
GX) ki 6 150 A
3.0
GX) G-LINK $ 150 &
2.0
GX) BIPE BN | ¢ 150 & Pt
1.0
GOEEREN Y > 7| ¢ 150 & FIT
2.0
GX-F) EH&E 175 $ 150 X 90L7. 5K i
1.0
F) i ¢ 150 7.5K il
1.0
F) JE b 5 ¢ 150 7.5K &
1.0
F) 3 1 7 6 150 7. 5K ]
4.0
P75 Vsaiam] ¢ 150 7. 5K 1
1
P [EKERER FR/KHL H
12




01 EIE HEFEE xIsx RERET

o B N R &
T f& 1| | g B 2V OB |H L
i L
GXJE ¢ 150 3.00 3. 00
FaKE By B A VRS m
GXJE ¢ 150 3. 00 3. 00
WS G-LINK:Z |
4. 00 4. 00
77 VA 6150 5]
0.355 + 0.595 0.95
KyxzFrorzay—7]¢ 150 m
1.00 1.00
Ed eI [ ¢ 150 & T
1. 00 1.00
Wik PR ¢ 150 & T
1.00 1.00
BERRE AL | ¢ 150 &1 AT
4. 00 4. 00
BERXE Uik ¢ 150 & P
LT
¢ 300mm .00 + 1.00 + 1.00 3. 00
AS0-61% + T | 4%V 0. 8m m
¢ 200mm 1.00 1.00
E-1% T |40 2. Im m
¢ 150mm 1. 00 1. 00
A80-3%UAE +T. | 4%V 0.8m m
¢ 200mm .00 + 1.00 + 1.00 + 1.00 5. 00
AS0-47%E T |4k 1 0. 8m + 1.00 m
¢ 200mm .00 + 1.00 2. 00
B110-4%& + T |+ v 1. Im m
¢ 150mm 1. 00 1.00
3EHAN AL T[4V 0. 8m & T




01 EIE HEFEE xIsx RERE2
B & N R R
T f& Al G B E2V B O BN
IR E L
1. 00 .00
BR5 (1-25) ¢ 600 |HBHTHE S BRI g
1. 00 .00
PR E HH.
1. 00 .00
kS ¢ 600 X h50 bl
1. 00 .00
HEUHEE L2 L [4em/ 5% i
1.00 .00
AEST N\ FLPEAT T |35 AT
1. 00 .00
IR ISURHEE 35 i
1.00 .00
B AT R 345-h1200 T
1. 00 .00
JEEhR 3% T
1. 00 .00
HIl L, ¢ 150 T
2.00 .00
k=7 Y — 1]21-40-8 &0
2. 00 .00
=)0 21-40-8 T
t=20cm 1.85 X 1.85 X 0.20 .68
%Eﬁj‘j YTy % —T VRCA0 m3




01 EIE HEFEE xIsx

MERF3

o B N R &
T f& Hmoom § L 2V ¥ & | N7
kT
IS 13.90
PERR e PRI A T ¢ 75 = 13.90 m
20.65 x( 7.00 + 3.00 )+ 102.58
¢ 100 + 8.90 x( 2.00 + 3.00 + 5.00
+ 3.00 + 3.00 + 7.00 + 7.00 )
+ 20.05 X 2.00 + 20.05 + 13.90
X 2,00 + 13.90 X 4.00
= 719.63 m
56.20 + 85.36 + 101.48 + 107.07
¢ 150 = 350.11 m
104.40 + 152.16 + 143.46 + 132.28
b 200 + 80.54 + 180.58 + 42.74 + 38.96
183.56 + 91.73 + 129.27 + 99.00
+ 100.95 + 147.39 + 52.11 + 37.24
+ 162.27 + 169.20 + 8.45 + 8.45
= 2064.74 m
4.59 + 155.30 + 11.90 + 48.39
¢ 300 + 129.86 + 8.43 + 131.36 + 40.94
+ 34.40 + 6.03 + 115.86 + 159.55
+ 51.14 + 14.22 + 68.60 + 56.34
+ 52.32 + 88.27 + 69.88
= 1247.38 m| 4395.8| m
13.90 X x/4 X 0.075 "2
6 75 = 0.06 m3
719.63 X xw/4 X 0.10 -2
6 100 = 5.65 m3
350.11 X /4 X 0.15 -2
¢ 150 = 6.19 m3
2064.74 X w/4 X 0.20 2
b 200 = 64.87 m3
1247.38 X  w/4 X 0.30 -2
¢ 300 = 88.17 m3
0.06 + 5.65 + 6.19 + 64.87
TRE kR £
+ 88.17 164. 94

m3




01 EIE HEFEE xIsx

MER K4

&= NS

T f& 1| | g L 2V OB |H L
1 + + 1

EA D ¢ 150 & T
1 + + 1

ZERPEE D | 9150 AT
1 1

HEAL2 ¢ 150 T
1 1

Ze R E O ¢ 200 (&5
1 1

R E N2 ¢ 150, ¢ 100 & it
1 + 1 + 1 1 4

HEAD2 ¢ 300 & P
1 + 1 + 1 1 §)

R E D2 ¢ 300 + 1 + 1 & Pt
1 + 1 + 1 1 5

L E 02 ¢ 200 + 1 5
1 + 1 + 1 1 4

N2 é 200 T
FEHE T 7 + 3 + 1 4 18

fENE3 BdE = vkt | + 2 + 1 & T
G- 7 + 3 + 2 12

ke BIZE = el ki i 1 & T
FeE T 2 + 5 + 7 6 38

e Al o vmEkaaE |+ 14+ 3 + 1 & Pt
FEET 5 + 5 + 6 14 33

ks BgE = st |+ 2 + 1 & T
FE T 1 + 5 + 2 1 9

2 BgE = > B+ & Pt
FEE T, 2 + 5 7

ke BIZE = B & T
FHE T 1 1

T PZE = > il & T




01 HWETE HEETHEZE xIsx e

B = N OER OFK
T f& Al i H =X ¥ o= |H L
=%z
1.00 1.00
GX) i ¢ 150 ]
3.00 3.00
GX) G-LINK ® 150 &
2.00 2.00
GX) g A E | ¢ 150 AT
1.00 1.00
G)EIEHFED Y v~ | ¢ 150 T
2.00 2.00
GX-F) 5% 15 | ¢ 150X 90L7. 5K |
1.00 1.00
F) ke ¢ 150 7.5K i
54m3/hi% & 1. 00 1. 00
F) B 2T $ 150 7.5K &
1.00 1.00
F) 3 -5 ¢ 150 7.5K ]
4. 00 4,00
P75 s | ¢ 150 7. 5K &
HirE
FE 7K H ¢ 150 3.00 m 1250m  0.002 0
E KR ¢ 150 : 1000~1500 FEOME EfalEgE — 1HMY = H H
KR
12 12
RIEFEE E B IA/H H




01 AT E HEHEE xsx

N EL =
B = N R O#
T 7k Al | & H =X ¥ & (H L
AR E i B
B PZE (m3/H) [F# M H#EP185]
FHE T mE b B+ 164.94 — 20 = 9 H
30
e T
3
EATER L
9
FeH T
20
" AT
/NG 3 + 9
= 12
12
&t 12| H
H A
MRS R B 12 X 1 = 12 12| A
RS (i %A
THIEE 12 =+ 0.58 + 30 + 20 71| H
71+ 30 2| A




02 ETE + THE xisx

Mz =. = Y i
n & i H
I D h h
sojjlg :; 89 53:0 800 01 8:9 EH AB0-3RAE 1T
80-2% | 100 | 18 | 550 | 800 | o | 918 O 0.150 m
80-3% | 150 | 169 | 550 | 800 0 969 (EPERS 0.010 »
80-4% | 200 220 600 800 0 1020 S 4% /]
80-5% | 250 272 650 800 0 1072 Aﬂ%il %ﬁﬁ;ﬁ 0.1133 1
80-6% | 300 | 323 | 700 | 800 | o0 | 1 (FRI 7L &S SHIEW 0.5;50 p
AMES sk T4k 0.800 7
PRAERD 0.300 ”
300 w $E HIRH 0.969
FAR (8 4 B 122520m ﬂigﬁi‘@iﬂ#ﬁgn:ﬂﬁm) B Hfita 0.020 m2
L (B3 AR AE 7R 220 ‘ D+300 0.469 m
8%8: ] = —sr ) H R Eh] 0.000
g RS & " TEEh3 0.250 »
% "‘{ (HAERERE) X %5 J:J%Eh‘l 0.220 #
. g TS g | (R4 5 h5 0.030
. ; K } (BAEDH-7) } J AREHEEE G 0.100 ”
H o5 -3 W+(0.3+0.3) 1.150
s &g w Rt L+(0.3+0.3) 1.600
§ - (=3P 5.000
i 9 ezl =370
o 5
4 B Bl k& i B = B B OH
A80-3TE 1T 4 150 DP 800 1.0 m %4720
1.15 x 2.00 + 1.60 x 2.00 + 0.55 x 2.00 + 1.00
ASYIET x 2.00 8.60 | m
8.60 x 0.10 x 0.023
ASTE KL L=16km 0.020 | m3
N 1.15 x 1.60 + 0.55 x 1.00
ASHitE GGk 2.39 | m2
DP10t 1.15 x 1.60 x 0.10 + 0.55 x 1.00 x 0.03
ASH Zi#HEAL Sy L=9km | 0.20 | m3
VEZAWN i1 ( 0.55 x 0.469 - 0.02 ) x 1.00
05 22) iy B TE30cm | 0.24 m3
V2 0.55 x 0.00 x 1.00
WA i _ 0.00 | m3
t=0.25m 0.55 x 1.00
T HEIT—T 0.55 | m2
t=0.22m 0.55 x 1.00
R B ARG 0.55 | m2
#JE5cm, FJE5cm| 1.15 x 1.60
N E B EBRLEAS, MK EAS 1.84  m2
t=0.03m 0.55 x 1.00
(& PR E T 23 0.55 | m2
(0969 - 0.10 ) x 0.55 x 1.00
g1l HEMBHO.2 0.48 | m3
DP10t 0.48 - 0.00 = 0.90
Vs L=19km 0.48 | m3




02 ETE + THE xisx

Mz =. = Y i
n & i H
I D h h
sojjlg :; 89 53:0 800 01 8:9 BRSO AS0-ARE 1T
80-2% | 100 | 18 | 550 | 800 | o | 918 O 0.200 m
80-3% | 150 | 169 | 550 | 800 0 969 (EPERS 0.010 »
80-4% | 200 220 600 800 0 1020 S 4% /]
80-5% | 250 272 650 800 0 1072 Aﬂ%il %ﬁﬁ;ﬁ 0.12(2)8 1
80-6% | 300 | 323 | 700 | 800 | o0 | 1 (FRI 7L &S SHIEW O.E;OO p
AMES sk T4k 0.800 7
PRAERD 0.300 »
300 w $E HIRH 1.020 »
FAR (8 4 B 122520m ﬂigﬁi‘@iﬂ#ﬁgn:ﬂﬁm) B Hfita 0.040 m2
L (B3 AR AE 7R 220 ‘ D+300 0.520 m
8%8: ] = —sr ) H R Eh] 0.000
g RS & " TEEh3 0.250 »
% "‘{ (HAERERE) X %5 J:J%Eh‘l 0.220 #
. g TS g | (R4 5 h5 0.030
. ; K } (BAEDH-7) } J AREHEEE G 0.100 ”
H o5 -3 W+(0.3+0.3) 1.200
s &g w Rt L+(0.3+0.3) 1.600
§ - (=3P 5.000
i 9 ezl =370
o 5
4 B Bl k& i B = B B OH
A80-4TE 1T ¢ 200 DP 800 1.0 m %4720
1.20 x 2.00 + 1.60 x 2.00 + 0.60 x 2.00 + 1.00
ASYIET x 2.00 8.80 | m
8.80 x 0.10 x 0.023
ASTE KL L=16km 0.020 | m3
N 1.20 x 1.60 + 0.60 x 1.00
ASHitE GGk 2.52 | m2
DP10t 1.20 x 1.60 x 0.10 + 0.60 x 1.00 x 0.03
ASH Zi#HEAL Sy L=9km | 0.21 | m3
VEZAWN i1 ( 0.60 x 0.520 — 0.04 ) x 1.00
05 22) iy B TE30cm | 0.27  m3
V2 0.60 x 0.00 x 1.00
WA i _ 0.00 | m3
t=0.25m 0.60 x 1.00
T HEIT—T 0.60 | m2
t=0.22m 0.60 x 1.00
R B ARG 0.60 | m2
#JE5cm, FJE5cm| 1.20 x 1.60
N E B EBRLEAS, MK EAS 1.92  m2
t=0.03m 0.60 x 1.00
(& PR E T 23 0.60 | m2
( 1.020 - 0.10 ) x 0.60 x 1.00
g1l HEMBHO.2 0.55 | m3
DP10t 0.55 - 0.00 = 0.90
Vs L=19km 0.55 | m3
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Mz =. = Y i
n & i H
I D h h
sojjlg :; 89 53:0 800 01 8:9 EH ABO-6RE 1T
80-2% | 100 | 18 | 550 | 800 | o | 918 O 0.300 m
80-3% | 150 | 169 | 550 | 800 0 969 (EPERS 0.012 »
80-4% | 200 220 600 800 0 1020 S 4% /]
80-5% | 250 272 650 800 0 1072 Aﬂ%il %ﬁﬁ;ﬁ 0.13(2)3 1
80-6% | 300 | 323 | 700 | 800 | o0 | 1 (FRI 7L &S SHIEW 0.7'00 p
AMES sk T4k 0.800 7
PRAERD 0.300 ”
300 w $E HIRH 1.123 »
FAR (8 4 B 122520m ﬂigﬁi‘@iﬂ#ﬁgn:ﬂﬁm) B Hfita 0.080 m2
L (B3 AR AE 7R 220 ‘ D+300 0.623 m
8%8: ] = —sr ) H R Eh] 0.000
g RS & " TEEh3 0.250 »
% "‘{ (HAERERE) X %5 J:J%Eh‘l 0.220 #
. g TS g | (R4 5 h5 0.030
. ; K } (BAEDH-7) } J AREHEEE G 0.100 ”
H o5 -3 W+(0.3+0.3) 1.300
s &g w Rt L+(0.3+0.3) 1.600
§ - (=3P 6.000
i 9 ezl =370
o 5
4 B Bl k& i B = B B OH
A80-6TU%E T ¢ 300 DP 800 1.0 m %4720
1.30 x 2.00 + 1.60 x 2.00 + 0.70 x 2.00 + 1.00
ASYIET x 2.00 9.20 | m
9.20 x 0.10 x 0.023
ASTE KL L=16km 0.021 | m3
N 1.30 x 1.60 + 0.70 x 1.00
ASHitE GGk 2.78 | m2
DP10t 1.30 x 1.60 x 0.10 + 0.70 x 1.00 x 0.03
ASH Zi#HEAL Sy L=9km | 0.23 | m3
VEZAWN i1 ( 0.70 x 0.623 — 0.08 ) x 1.00
05 22) iy B TE30cm | 0.36 m3
V2 0.70 x 0.00 x 1.00
WA i _ 0.00 | m3
t=0.25m 0.70 x 1.00
T HEIT—T 0.70 | m2
t=0.22m 0.70 x 1.00
R B ARG 0.70 | m2
#JE5cm, FJE5cm| 1.30 x 1.60
N E B EBRLEAS, MK EAS 2.08 | m2
t=0.03m 0.70 x 1.00
(& PR E T 23 0.70 | m2
(1.123 - 0.10 ) x 0.70 x 1.00
g1l HEMBHO.2 0.72 | m3
DP10t 0.72 - 0.00 = 0.90
Vs L=19km 0.72 | m3




02 ETE + THE xisx

Mz =. = Y i
/G - H
+T | ¢ b | w h nl | nH R &
110-138| 75 89 _550 1100 0 _1189 6%]%_838(:;57:5§E|*%ﬁ§) %S'*j‘ Bll()*4§£’”§j::|:
11028 100 | 18 | 550 | 100 | o | 1218 B 0.200 m
110-3% 150 | 169 | 550 | 1100 | 0 | 1269 - P Rt 0.010 »
110-43| 200 220 600 1100 0 1320 ‘ - %%?%D 0.220 »
300 w PEHIEL 1.00 »
| . TREIEW 0.600
BB (BB host ‘ ’—M ‘{ﬂﬂmL“’m) +40h 1.100 »
=) e, —— PRAERD 0.300 »
2 | G, T, o EHU%H 1.320
8 ERBET ~ % ffiflia 0.040 m2
BEMERE o D+300 0.520 m
g | S $B R IR 0.000 7
5 8 ! 8 TJEJEh3 0.500
¥ . L Ih 0.270
| (BEIH-7) I EfHE =05 0.030 »
| % Bt A fi %) h6 0.100
_ mh;\ e 1 W+(0.3+0.3) 1.200 7
g 8 i L+(0.3+0.3) 1.600
o ‘ AR 5.000
o —3? T e )
4 B Bl k& i B = B B OH
B110-4%%&+T 4 200 DP 1100 1.0 m %70
1.20 x 2.00 + 1.60 x 2.00 + 0.60 x 2.00 + 1.00
ASYI x 2.00 8.80 | m
8.80 x 0.10 x 0.023
ASTE 7K QLER L=16km 0.020 | m3
N 1.20 x 1.60 + 0.60 x 1.00
ASHitE GGk 2.52 | m2
DP10t 1.20 x 1.60 x 0.10 + 0.60 x 1.00 x 0.03
ASHZiEWALSy  L=9km | 0.21 | m3
VEZAWN i1 ( 0.60 x 0.520 — 0.04 ) x 1.00
05 22) iy B TE30cm 0.27  m3
V2 0.60 x 0.00 x 1.00
R WA T 0.00 | m3
t=0.5m 0.60 x 1.00
T HEIT—T 0.60 | m2
t=0.27m 0.60 x 1.00
R B ARG 0.60 | m2
FJE5cm, FEE5em 1.20 x 1.60
N E B EBRLEAS, MK EAS 1.92  m2
t=0.03m 0.60 x 1.00
(& PR E T 23 0.60 | m2
(1320 - 0.10 ) =<2 x 0.60 x 1.00
A FEMKBHO.2 0.73 | m3
DP10t 0.73 - 0.00 =+ 0.90
%+ L=19km 0.73 | m3




02 ETE + THE xisx

2 =0 = Y
n o= B R &
E-1RIELTT
(A ERFRHRER) M BT
w0 B¢ 0.200 m
[ 1 It 0.010 »
EIMED 0.220
r ! THEEL 1.00
i $R I EW 0.600
| 14%9h 2.100 7
| TREHD 0.300 ”
| PEHIZEH 2.320
s ! B Hifia 0.040 m2
g 2 | D+300 0.520 m
g ;g i ! H R Eh] 1.800
o A | T & /Eh3 0.000
¢ R R JE e 0.000 7
112 I EfHE =05 0.000 »
; w Ah4EIE 06 0.000 ¥
— W+(0.3+0.3) 0.000 »
- : [Z3FN 5.000 m
g tiiWa FIEY
4 B Bl k& i B X B B OHr
E-1R&+T ¢ 200 DP 2100 1.0 m %470
ASYI 0.00 | m
VB K ALER 0.00 | t
PN
ASHitE GGk 0.00 | m2
DP10t
ASHZEWALSy  1L=9km 0.00 | m3
VEZAWN i1 (1120 + 0.60 ) =2 x 0520 x 1.00 - 0.04 x 1.00
Rt % ETE30cm 0.41 | m3
2% (12920 + 1.120 ) +2 x 1.80 x 1.00
R it 3.64 | m3
t=0m 0.00 x 1.00
T g BEITvrv—T 0.00 | m2
t=0m 0.00 x 1.00
R AR A 0.00 | m2
0.00 x 1.00
ENGES 0.00 | m2
t=0m 0.00 x 1.00
2 PR E T 23 0.00 | m2
(2920 + 060 ) =2 x 2.32 x 1.00
gLl A BHO0.2 4.08 | m3
DP10t 4.08 - 3.64 = 0.90
%+ L=19km 0.04 | m3




02 ETE + THE xisx

N =N = Vvl
B = =
n B 3B AALE LT
“ wR e 0.150 m
] T mrmmmon. | B 0.010-
B BERRET R D 220050 BHED 0.169 »
T _— WREIEL 4.600 »
5 I - iy -1 4 ﬁi#uﬁlﬂ.i\’mrd_o“ttsnué‘zw ﬁﬁ”rﬁgw 4,600 )
b em ity it B R = h2 1.00 »
T | e anzoeoue 1D 0.300
g 8 % - & PEHIEEH 1.950
: ; i Hifda 0.020 m2
7 D+300 0.469 m
| P H R Eh] 0.45
L TEEh3 0.250 ”
FEEh4 0.220
IR EHZEIE N5 0.030
-~ AL N6 0.100 »
o W+(0.3+0.3) 5.200 #
L+(0.3+0.3) 5.200 »
AR 5.000
T e )
4 FE Bl k& i B X B B OH
3HEALE LT o 150 DP 1000 1.0 f&Ar  H720
5.20 x 2.00 + 520 x 2.00 + 4.60 x 2.00 + 4.60
ASYIT x 2.00 39.20 | m
39.20 x 0.10 x 0.023
ASTE 7K ALER L=16km 0.090 | m3
Ak 5.20 x 5.20 + 4.60 x 4.60
ASHitE GGk 48.20 | m2
DP10t 5.20 x 5.20 x 0.10 + 4.60 x 4.60 x 0.03
ASH ZiEMALSy | L=9km | 3.34  m3
(1320 x 3.20 + 275 x 275 ) <2 x 045 - 1.85
HRL Wi ' x 1.85%0.2-1.8"2X 7 /4X0.15-1.75°2 X 7 /4X0.1 2.70 | m3
(420 x 4.20 + 320 x 3.20 ) <+2 x 1.00 - 1.75
B A BE+ x m/4 x 1.00 11.53 | m3
t=0.25m 4.45 x 445 - 1.75 "2 Xx/4
T HEIT—T 17.40 | m2
t=0.22m 4.60 x 4.60 - 0.82 "2 Xx/4
R AR A 20.63 | m2
FE5cm, FE5em 5.20 x 5.20
ENGES B EBRLEAS, Mk EAS 27.04 | m2
t=0.03m 4.60 x 4.60
2 PR E T 223 21.16 | m2
( 460 x 4.60 + 275 x 2.75 ) +2 x 1.85
gLl A BHO0.2 26.57 | m3
DP10t 26.57 - ( 270 + 11.53 ) = 0.90
%+ L=19km 10.75  m3




03 HETE HAMAKE xIsx

e

w B i A"

=B

=

3 EHT AFLIEER

S=1

i

SSAFALET (L=1. 75m) N=1

0 20

- 4o (0600 x t150) | E || #3821 > (0600 X £150) /
o & [ VT @140-8) @408 ]
= g 0 o s v
h T e | 7 AcoELEL
CH SRS — e mka—xo4
BES Y v—5y /o0 | B3y L5 R
(600X150Xh150}‘ (600 150 x h150)
° E% é&q:lzoOxheoo)/J////// JEHR \\\\\\Jr\\ﬂmmooxﬁ'éoﬂ)
3 (21-40-8) . — (21-40-8)
& \ BEY 59 v—7F v (RC-40) ,
125‘ 61500 ,‘]zs
@ 1750
@ 1800
11850
4 B at B 2V B & HT
= 27U —h 1.0 T [2472Y
t150 0.60 x 0.15
FEERA BTy % —TRC-40 0.09 | m2
0.60 x 0.60 x 0.15
flfigR=7)—h  |21-40-8 0.05 | m3
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